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              Sinusfilter  
     

 
 
 
 
 
 

Pos. Baugröße 
BS-Type 

Kerngröße Induk-
tivität 
mH 

Nenn-
strom 

A  

Maßbild An- 
schluß 

Isolier-
stoff-
klasse 

B T T1 H L1 L3 d1 d2 Erdung Ca. kg 

1 OFLE-3,5A-4 DDUA 2021 16 3,5 S1 KL T 40/F 125 65 110 180 100 45 5x8 2,5 AMP-Erdung 2,6 
2 OFLE-4,5A-4 DDUA 2031 11 4,5 S1 KL T 40/F 125 75 110 180 100 55 5x8 2,5 AMP-Erdung 3,0 
3 OFLE-8A-4 DDUA 2541 7,2 8,0 S1 KL T 40/F 155 95 118 205 130 70 8x12 4,0 M 5 6,6 
4 OFLE-13A-4 DDUA 3031 4,2 13 S1 KL T 40/F 190 100 125 230 170 58 8x12 4,0 M 6 7,3 
5 OFLE-18A-4 DDUA 3051 3,5 18 S1 KL T 40/F 190 120 125 230 170 78 8x12 10,0 M 6 11,5 
6 OFLE-24A-4 DDUA 3545 2,4 24 S1 KL T 40/F 210 125 135 260 175 85 8x12 10,0 M 6 14,0 
7 OFLE-32A-4 DDUA 3555 2,0 32 S1 KL T 40/F 210 135 135 260 175 95 8x12 10,0 M 6 16,0 
8 OFLE-48A-4 DDUA 4070 1,5 48 S2 KL T 40/F 240 210 < T 290 190 125 8x12 10,0 M 8 28,0 
9 OFLE-60A-4 DDUTA 4080 1,1 60 S2 KL T 40/F 240 220 < T 290 190 135 8x12 16,0 M 8 35,0 

10 OFLE-75A-4 DDUTA 5058 0,9 75 S2 KL T 40/F 300 210 < T 345 240 134 11x15 35,0 M 8 42,0 
11 OFLE-90A-4 DDUTA 5063 0,8 90 S2 KL T 40/F 300 215 < T 345 240 139 11x15 35,0 M 8 46,0 
12 OFLE-110A-4 DDUTA 5085 0,7 110 S2 KL T 40/F 300 237 < T 345 240 161 11x15 50,0 M 8 58,0 
13 OFLE-150A-4 DDUTA 7060 0,5 150 S2 KL T 40/F 420 217 < T 470 370 142 11x15 50,0 M 10 75,0 
14 OFLE-180A-4 DDUTA 7075 0,4 180 S3 S T 40/F 420 235 < T 470 370 157 11x15 11,0 M 10 88,0 
15 OFLE-210A-4 DDUTA 70100 0,4 210 S3 S T 40/F 420 260 < T 470 370 182 11x15 11,0 M 10 115,0 
16 OFLE-270A-4 DDUTA 70135 0,3 270 S3 S T 40/F 420 295 < T 470 370 217 11x15 11,0 M 10 150,0 
17 OFLE-325A-4 DDUTA 70130 0,3 325 S3 S T 40/F 480 310 < T 580 430 234 13x15 11,0 M 10 194,0 
18 OFLE-410A-4 DDUTA 70130 0,2 410 S3 S T 40/F 480 310 < T 580 430 234 13x15 11,0 M 10  206,0 
Alle Maße sind ca. Maße in mm.  Technische Änderungen vorbehalten.  
 
 

                                        KL = Klemme       KS = Kabelschuhe        S = Schiene    

 
 
 
 
 


